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Make a table and fill out the total mg in your body
for the first 6 days. DON'T ROUND!

—D(N\/ imj n bcéy

mon 20 ’_ﬂ
Tues | 20 + 60(20) =32

WED | 20 + . @o(ai)\:jge,?_

THUR | 20 + . @c(zvéj%»%c

Fel | 20+ . (y(+3.52) = Y¢ . 10 2.
SAT | 2o + -60(%'/7_&):{/ .66
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Add a third column - show the total as the sums of that day Find the total amount of mg on the 7th day.
and the previous days. DON'T ROUND!
DON'T ROUND!
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Use the graph given to you to make a scatter plot of this data.
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What is the graph doing as the number of days increases?
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What must be true about successive terms for the graph

COLESNOHRCOSI TepiCy=SRloang=InTIERg D of partial sums to start approaching a limiting value?

Successive terms must start to become smaller and smaller,
thus affecting the total less and less.

What type of Series will do this?

Geometric with common ratio "less than 1".
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e Convergent Series

e Divergent Series



